
          cg';'lr– @ -h_ 

            k'/rf}+*L gu/kfnLsf a}t*L 

        8 g++ j*f sfof{no dNnfb]]lxsf] of]hgf tyf ah]^ sfo{s|d 
 

lzif{s sfo{s|d÷ultljlw ljlgof]lht /sd ?= 

1=k'jf{wf/ ljsf;      

lgdf{)f ;buf* nfd'gL n#' hnljB't of]hgf 1600000 

  jlj*f b]lv lqj])fL#f^ ;Dd af^f] lgdf{)f{ 800000 

  /];L lknf*L x'b} rf}kftf ;Dd jf^f] lgdf{)f 1000000 

  /]l; ;Nn]rf}/ ;Dd af^F] lgdf)f{ 1100000 

  ^'*]t s]bf/df)*f+} ;Ddsf] jf^f] lgdf)f{ 700000 

  tNnf klx/f] vfg]kfgL of]hgf ala*f  1000000 

  #';*L nf}gf vfg]kfgL nfd'gL 500000 

  hDdf 6700000 

2=n= ju{ -ckf+u_ /];L ahf/df ;fj{hlgs ;f}rfno 200000 

  df;' sl +̂u ;]G^/ / tflnd 300000 

  hDdf 500000 

3=n=j=h]i& gful/s h]i&gful/s lgMz"Ns :jf:Yo l;lj/ 100000 

  hDdf 100000 

4=n= j= jfnjflnsf v]n d}bfg lgdf{)f g]=/f=df=lj= 800000 

blnt v]n d}bfg lgdf{)f l*nfz}gL=lg=df=lj= 200000 

  hDdf 1000000 

5=n= j= dlxnf dlxnf z;StLs/)f tfnLd 200000 

  dlxnf sDKo'^/ tfnLd 300000 

  24 #) ]̂ ;"Ts]l/ ;]jf lgoldt ;+rfng 200000 

  hDDff 700000 

      

      

6= s[lif l;rfO{ s'nf] /]nfg ;Nnf  200000 

  l;rfO{ s'nf] dd{t s:n]t 200000 

  s[lif ;+sng s]Gb| :yfkgf 200000 

  s[ifsx?nfO{ ljpljhg vl/b 200000 

  vf*s'nf l;rfO{ s'nf] lgdf{)f 300000 

  hDdf 1100000 

7= cGo k|jw{gfTds sn] vfg]kfgL dd{t 100000 

sfo{s|dx? sf]^ vfg]kfgL dd{t 100000 

  wf}gfnL vfg]kfgL dd{t 100000 

  v]tfnL vfg]kfgL  100000 

  lrD*f vfg]kfgL 100000 

  wdLufp vfg]kfgL dNnf] 100000 

  skm\nfg vfg]kfgL 100000 
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  ef*L vfg]kfgL 100000 

  lknf*L vfg]kfgL 100000 

  tNnf] wfdLufp vfg]kfgL dd{t  100000 

  af]x/L ufp Gjfnf vfg]kfgL dd{t 100000 

  hDdf 1100000 

  s'n hDdf 1,12,00,000 

 

Ps s/f]* afx| nfv dfq 
 

   tof/ kfg]{M 

   


